SECTI

Schofield & Sims Mental Arithmetic 6 Answers

| SECTION 3 | Test 2

1. Write down the product of 142 and 9. Daisy and Charfie play a game with spinners. : “1 Write down the sum of 526 and 625. 1157 The table shows a spreadsheet that
- o ' Ella used to investigate the angle
+ (72 -56) = . £3) 0= 10 ‘
2 (72 +56) + ( ) P ‘ | : 2 ({(15+45)+3)+2 ™ properties of regular polygons. Two
'3 Write in digits nineteen o T 213 : 3 Write in digits forty-six thousand cells are empty. The diagram of a
nundred and eight. 1508 1 AN and forty-six. hexagon shows how Ella labelled
. { th . n )
‘4 Arrange in ascending order: : 2 33%> 1 e centre and interior angles
32253 T < 3 < 5 o< 1< ¢t ' \\1 & ‘ 3 True or false? falee A B C D
‘5 Divide 147 in the ratio 2:5. 47 76 2 5 Reduce 120 by 333 %. st 1 | Number of | Cantre Interior Sum of interior
o B - sides, N angie, C angle, V angles
‘6 0705+4+009+103= . . 6 2.2%003= 606G 5 5
o o Daisy's Charlie's 120. 60 180
7 [_)'4 x{4-0.08)= Lot Spinner Spinner 7 i = 12 3 4 90 a0 360
8 Round 16.2534865 to the nearest : 4 5 72 1038 540
Express your answers as fractions in their lowest terms. 8 Round 0.00985 to the s :
ten thousandth. nearest thousandth. 5 6 54 120 720
9 Calculate correct to three , N _ .
decimal places. 2.43 = 9 0.7 1 What is the probability of W 9 Estimate to the nearest ten. 22F552¢ (Y 6 ! 514 1286 900
T o Daisy spinning a 67 5 / 8 43 135 1080
10 Ifx=2 y=3,2z=5,find the value 10 ]'j ”; =h4f ”]= 5f§ =(55 . 8 9 40 140 1260
22y A 5 . N ind the value of m(g® —n?). Ad
of &+ 7+ 2% 32 5 \wWhatis the probablity of ,ﬁ d 9 10 36 144 1440
11 3p2=48 sop= 4 Charlie spinning a 67 B 1N Vr=9 sor= b
12 E'xpress 42 as a product of ‘ - 12 Write down the prime factors of 20. 2 x 2 x 5 = 20 1 Which row of the spreadsheet .
three prime numbers, % 2T x T o= A7 3 What is the probability of ; represents a hexagon? =
' ' ' Daisy not spinning a 67 s
2 What shape is represented by 1
7 sOlisT '
4 What is the probability of Charlie ; 1 If 45 envelopes cost £1.35 how row 3 of the spreadsheet: HustE |
. . inni 3 is thi ? 3 . i
1 Share £115 in the ratio 3:2. 59 f45 not spmmrﬂg a6? ¢ much s this per envelope? =R 3 The formula used in the spreadsheet
‘ N 2 Calculate the interest at 7.5% on a to calculate the angle at the centre of
2 | buy a box of 48 oranges for 5 What is the probahility of ,J loan of £4000. £210 a hexagon was 360 + A5. What value 1
£5 and sell them at 15p each. Daisy spinning an odd number? z does this give for the centre anale? &y ik
What is my profit? £2.20 3 60cm is approximately >t |
. " 4 Into which empty cell shoulg this |
: . . 6 Whatis the probability of ‘ 4 32km is approximately 27 miles 3 = i
3 10cm is approximately 4in Charlie not spinning an odd number? 3 value be entered: Bo ‘
R 5 _t . ‘ .. |
4 1lha= 1 E0m? _ N Liﬁogcfex)ﬂym?% f;wfbp;reiius 5 What formula was used to find the |
r 7 Whatis the probability of . What was Molly's oW timégo ' 37 BEs centre angle of a ten-sided decagon? 360 4 A
5  Which of these years was in the Daisy spinning either a 5 or a 67 3 ' B _ o 1
nd miliennium BCE? 6 How long will it take to travel 6 To find the intericr angle of 3 pentagon E
2850 BCE, 1725 BCE, 986 BCE 1776 BCE 8 What is the proability of Daisy , 42km at 18km/h? . #h 24min thle for:cnula 1182 - Bi'h\.NaS. us;ed. What 08 it
spinning a number greater than 47 £ value of angig coes this gives ' I
- 7 A tank of volume 9m® has a square S I
6 How tong will it take to travel ‘ base of side 1.5m. How tall is 7 into which empty cell should 1
2000m at 120km/h? imin 9 What is the probability of Charlie 1 the tank? Am this value be entered? 4 o
spinning a number greater than 47 B 7 o _ ) il
7 Abdul runs 100m in 12.5s. What is 8 These are similar rectangles. Find x. g.60m 8  What formula was used in the i
nis mean {average) speed in m/s? M5 15 What is the orobability of Charlie 72mm 21.6cm spreadsheet to find the interior angle L
spinning a number less than 4? H 32rmm of a seven-sided heptagon? 180.- B85
‘8 At what angle do the diagonals of ' ’ R
a kite cross each other? 20° xem 9 What value results from using L |
_ 11 What is the probability of Charlie the formula C9*A9? 144G |
9. What is the order spinning either a number greater .
' of rotational than 4 or a number less than 47 B 5. What is the number 10" Which cell contains this value?
symmetry of this - of axes of s
_ ymmetry . : 2
71 shape about 12 Explain why the answer to question 11 of this shape? 1 What does this value represent: S
its centre? 2 is less than 1. ' sum of inferior angles 0_?-_'_dfei:a§g'g
10 Approximate 3098mm to the It does 10 Approximate 355in to the 12 VWhat formula was used to find the sum 2
nearest centimetre. 3i0em nearest yard. t0yd of the interior angles of an octagon?.- ..
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